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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks cach and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each
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Find the value of k for which the equation x2 +4x + k=0 has coincident roots. s
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Find the angle of elevation of the top of a 15 m high tower at a point 15 m away from the base
of the fower. T . LA e e
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A die is thrown once Find the probability of getting a number that is neither prime nor
composite.
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If (3, %) is the mid-point of the line segment joining the points (k, 0) and(7, ?'2-) . Find value
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Question numbers 5 to 10 carry two marks each,
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If five times the fifth term of an A.P. is equal to eight times its eighth term, show that its 13" term is
zero.
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If the quadratic equation x2+4x+k=0, has real and distinct roots, find the value of k.
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The tangent at a point C of a circle and diameter BA when extended intersects at P such that
£PCA=10° Find ZCBA.
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Find point C on line segment AB =8 cm such that AC= ; AB.
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Given is a circle with centre O and radius 8 cm. The tangent at the point P 9n the circle meets a line
through O at Q such that PQ =15 cm. Find % part of OQ.
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A pendulum is swinging through an angle of 30° and describing an arc of length 8.8 cm. Find the
length of the pendulum. (Use =t = %2—)
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Question numbers 11 to 20 carry three marks each.
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If the 19 term of an AP is 47, then find the sum of the first 37 terms.

12 x & Toru ge s A el ledoagnben,
at+b+x a b x
& x203Rag+b+x#0
Solveforx:—-—l——=l+l+l;a¢0,b:0,
a+ b4+ x a b X

x#0anda-+-b+x#0.
13 5= 3.5 cm aTe) 9 W oo p e foig &1 faig p R 9 1 O Tl @ it
" Pisapoint on the circle of radius 3.5 cm. Construct a tangent to the circle at P.
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The horizontal distance between two towers is 60 metres. The angle of depression of the top of the

first tower when seen from the top of the second tower is 30° If the height of the second tower is 90

metres, find the height of the first tower.
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Seeta and Geeta are two sisters with an age difference of 3 years. Find the probability that :

(a) both are born in a leap year
~(b)  atleast one of them is born in a leap year.

16 AABC & ¥Y A(7 2), B(9, 10) 3R c(1, 4) €1 afg AB 3R AC % we-fag waw: E R FE o g 3
I 46 EF = Lgc
The coordinates of the vertices of AABC are A{7, 2), B(9, 10) and C(1, 4). If E and F are the mid-points
of AB and AC respectively, prove that EF = % BC. .

17 fagedl A(g, 3) 3R B(11, 15) Y firem =) Tares W fig p iR Q 39 war fova € fF AP=PQ=QB %1 3

P 3R Q F Frewies 9@ St
P and Q are the points on the line segment joining the points A(8, 3) and B(11, 15) such that
AP=PQ=QB. Find the coordinates of P and Q. A
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The side of a solid metallic cube is 60 cm. The cube is melted and recast into 8000 equal sohd
cubical dice. Find the side of each die.

19 5591 14 cm. 901 T 9 & T TGS R A G BN, Fellsh G e o B0 30° 7 | 3
Find the area of the segment of a circle of radius 14 cm, when the angle of the corresponding
sector is 30°.
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> A medicine capsule is in the form of a cylinder with two hen‘usphencal ends. The radius of
the capsule is 3.5 mm and length of the capsule is 12 mm. Find its total surface area. (Use 7=
—)
E@us-g / SECTION-D
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Question numbers 21 to 31 carry four marks each.
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Find the sum of all natural numbers amongst first one thousand numbers which are neither
divisible by 2 nor by 5.

22 T 7ifeh T AT i 8 km U S aTe faan A qgn anfyw S&t fiig W oW A 1 e 40 fre w4
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A sailor can row a boat 8 km downstream and return back to the starting point in 1 hour 40 minutes.

. Ifthe speed of the stream is 2 km per hour, find the speed of the boat in still water.
, 23 TF AP 1 H19T U 9ge) UE HT A TON & IR radl ue, el U 6 g W 1 31fue 1 AP I ween 4
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The fourth term of an AP is equal to 3 times the first term and the seventh term exceeds twice
the third term by 1. Find the first term and common difference of the AP,
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In the figure, two circles with centres O and O' touch each other externally at a point A such
that O,0' and A are collinear. A line through A is drawn to intersect these circles in B and C
respectively. Prove ﬂ’gt the tangents to there circles at B and C are parallel.
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25 TH APQR 1 o1 HIfsiy, FoEH QR=8 cm, £Q=60° 31 LR=45°%| TR T o1 @ & w7 4
Fifery foreent Ysd APQR T E11a yiail ! %Iﬁfz’il
Construct a APQR in which QR=8 cm, ZQ=60° and /R= 45°. Then, construct another triangle whose

3 .
sides are Y times the corresponding sides.of APQR.
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A person on the top of a tower observes a car moving at a uniform speed coming directly towards it. If -

it takes 12 minutes for the angle of depression to change from 30° to 45°, how soon after this, will the
car reach the tower?

27 syami w UE T A A fad ¥ aewe, A iR e w1 g e st § qen e 98 aret yeEr 4
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The king, queen and jack of clubs are removed from a deck of 52 playing cards and then well shuffled.
One card is selected from the remaining cards. Find the probability of getting

(A) a heart. (B) a king.

(€ a club. (D) the 10’ of hearts.
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Prove that the points (0, 0), {5, 5) and (-5, 5)are the vertices of an isosceles right angled triangle. Find
the length of the hypotenuse and also find its area.
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A man-hole on a drainage pipe is covered with an iron-plate, which is of the shape of a square of side

12.5'cm. From this iron-plate, a circular disc of diameter 7 crn is painted in black colour. The remaining

part is painted with blue colour paint. Find the blue paint required, if 1cm” requires 0.8 g of paint. (Use
22

™= =)
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A solid is in the form of a right circular cone mounted on a hemisphere. The radius of the
hemisphere is 2.1 cm and the height of the cone is 4 em. The solid is placed in a cylindrical
bucket full of water in such a way that the whole solid is submerged in water. If the radius of
the cylinder is 5 cm and its height is 9.8 cm, find the volume of water left in the cylindrical

bucket. (Use m= 2772-)
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A school has decided to give scholar’s badges to its scholar students and they were designed
as shown in the figure. PQRS is a diameter of a circle of radius 10.5 cm. the lengths PQ, QR
~and,are equal. Find the perimeter of the shaded portion and the area of non shaded portion.
RS Tiow these types of badges help to improve the performance the student ?
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